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    <  t < 2  Qp = 0   
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 :  
  Qp = 1/  n gH /4 * Dp 1/2s     Qp = 1/2 

n gh Vn   
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  Pp = Qp *  = /2  n gH Vn       Pp = q n gH   

q  .
(q m3/s) H .  
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 .
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P eau/ P méc =  mec *  vol  
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  Pmax = 1/2 (  A 2/3 V ) V2 – 1/2 (  A 2/3 V ) (1/3 
V )2    

      Pmax = 16/27 (1/2  AV3 )   

16\2759,3.%  
 .  

Cp 
40 % .

 .
.  

 
") :("

V :  

P eau = 0,1 AV3 (W)  

 .
(q m3) h :  

  P = q  gH (W)  

                  = 1kg/m3                          g = 9.8 m/s2   
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  g     =)9,8 \2(  
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Q = q 3600 T / 1000  
:  Q     =)) ((  

  T     =)(  

0,06 
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Q = 0,42 * D2 * Pv/h  
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4,3   50 
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 =2,44    =6,7 \  

 =3,33   =15 \  
 =19,05    =1,225 \  

  

 =20  
)( 

 2 2,25 2,5 2,75 3 3,25 3,5 3,75 
)\(         

3 3,9 4,0 4,5 4,3 4,6 4,0 3,3 3,2 
3,5 5,3 5,9 6,8 6,9 7,6 7,2 6,6 6,8 
4 6,6 7,5 8,8 9,4 10,4 10,5 10,2 10,7 

4,5 7,6 8,9 10,5 11,5 13,0 13,5 13,6 14,5 
5 8,5 10,1 12,0 13,4 15,1 16,1 16,6 17,9 

5,5 9,3 11,1 13,2 14,9 16,9 18,2 19,2 20,8 
6 9,8 11,8 14,1 16,1 18,3 20,0 21,2 23,1 

6,5 10,2 12,4 14,8 16,9 19,4 21,3 22,8 24,9 
7 10,5 12,7 15,2 17,5 20,1 22,2 24,0 26,2 

  
 =

04  
)( 

 2 2,25 2,5 2,75 3 3,25 3,5 3,75 
)\(         

3 2,1 1,9 1,6 1,6 0,8 0,5 0,3 0,2 
3,5 3,5 3,5 3,3 2,8 2,2 1,7 1,2 0,8 
4 4,8 5,1 5,1 4,8 4,2 3,6 2,8 2,2 

4,5 6,0 6,6 6,8 6,8 6,4 5,8 4,9 4,1 
5 7,0 7,8 8,4 8,6 8,4 8,0 7,2 6,3 

5,5 7,8 8,9 9,7 10,2 10,3 10,0 9,4 8,5 
6 8,4 9,7 10,7 11,5 11,8 11,7 11,3 10,5 

6,5 8,9 10,3 11,6 12,5 13,0 13,2 12,9 12,3 
7 9,2 10,8 12,1 13,2 13,9 14,3 14,1 13,6 

      
 =

06  
)( 

 2 2,25 2,5 2,75 3 3,25 3,5 3,75 
)\(         

3 1,0 0,8 0,5 0,3 0,1 0,1 0,0 0,0 
3,5 2,1 1,8 1,4 1,0 0,5 0,3 0,2 0,1 
4 3,3 3,2 2,8 2,3 1,5 1,0 0,7 0,4 

4,5 4,4 4,5 4,2 3,8 2,7 2,1 1,5 1,0 
5 5,4 5,7 5,6 5,3 4,2 3,5 2,7 1,9 

5,5 6,3 6,8 6,9 6,7 5,7 4,9 4,0 3,1 
6 7,0 7,7 8,0 7,9 7,0 6,3 5,3 4,2 

6,5 7,5 8,3 8,8 8,9 8,2 7,5 6,5 5,3 
7 7,9 8,8 9,5 9,7 9,1 8,5 7,5 6,2 
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S  :  P = 1/2 *  * S * V3   

16\27 )60 (%
.  

  )  (1,25 \
S   :  

P = 16/27 * 1/2 * 1.25 * S * V3    
 :  P = 0.37 * V3   
 P    : 
 S    : 
 V    :\  

D   : P = 0.29 * D2 * V3   
:  

   
   

 . 
.  

   :  0,85<<0,2  
  : 0,98< <0,7  
  : 0,98< <0,8  

  : 0,98< <0,9  
  : 0,98< <0,9  

  : 0,8< <0,7  
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  : 0,98< <0,9  
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30 50 %).(  
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   E = Pe T/1000   
:  E    =)\(  
 T    =) (  
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75 80%
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) + (15 .%
:  

E = 0,12 D2 Pv T/1000   

.  

:  

5 100 \
)720  .(:  

   E = 0,12 (5)2 100/1000  
   = 220 kwh   

7 420 \.  

)\ (
)0,5 (0,06 0,12

. 

0,08.  

 :  
   D = (E 1000/ (0,12 Pv T))½   

 .
.  

:  (  

 .

.  

:  

   E = (T/1000)  pi (v) fi (v) 
  i=1   
 :  Pi (v)   =vi   
 fi (v)   =vi  
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